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hdi0580_GetDeviceCount()
hdi0580_GetDevCntVerNo()
hdi0580_GetDevicelnfo()
hdi0580_OpenDevicelD()
hdi0580_OpenDevice()
hdi0580_CloseDevice()
hdi0580_ioswRead()
hdi0580_inpReadB()
hdi0580_inpReadW()
hdio580_outpWriteB()
hdio580_outpWriteW()
hdio580_outpReadB()
hdi0580_outpReadW()
hdio580_intFilterWrite()
hdio580_intFilterRead()
hdio580_intEdgeWrite()
hdi0580_intEdgeRead()
hdio580_intldtSelWrite()
hdio580_intldtSelRead()
hdi0580_intldtStsRead()
hdio580_intEblWrite()
hdio580_intEblRead()
hdio580_SetIntCall()



(D10580,D10548)

MS-C(6) MS-C/C++(7)

10

/

o 1D10580.LIB

1l

HID10580.DRV

history.txt

¥drv

hippd530.drv

¥lib

sidio580.lib

cidio580.lib

midio580.1ib

1idio580.lib

/

o 1di0580.1ib )

hidi0580.h

#include

¥smp

smp580 .exe

clk .bat

(MS-C Ver6.0)

smp580 .c

hidio580.h

11di0580. lib

I/F

"MS-C Ver6.0"




HID10580
" HIDIO580.DRV ™ " CONFIG.SYS ™
DEVICE = HIDI0580.DRV

{ C:¥HIDIO }

DEVICE = C:¥HIDIO¥HIDI0580.DRV
" CONFIG.SYS ™

" CONFIG.SYS ™



D10580

‘/

D10580

¥smp¥smp580.exe

@

15

O
O

ID

1010-=10

oldof¥

0001=1

Y9

O|0|0|0
O|0|0|0

3210

ID




"MS-C"

- "HID10580.DRV"

hdio580_GetDeviceCount()

hdio580_GetDevCntVerNo()

hdio580_GetDevicelnfo()

hdio580_OpenDevicelD() ( 1D

hdio580_OpenDevice() ( D )

hdio580_CloseDevice()

hdio580_ioswRead()

hdio580_inpReadB()

hdio580_inpReadW()

hdio580_outpWriteB()

hdio580_outpReadW()

hdio580_intFilterrite()

hdio580_intFilterRead()

hdio580_intEdgeWrite()

hdio580_intEdgeRead()

hdio580_intldtSelWrite()

hdio580_intldtSelRead()

hdio580_intldtStsRead()

hdio580_intEblWrite()

hdi0580_intEblRead()

hdio580_SetintCall()

) | hdio580 GetLastErr()




#include "hidio580.h"

sidio580.1ib 64KB 64KB
cidio580.1ib 64KB 64KB
midio580.1ib 64KB 64KB
lidio580.1ib 64KB 64KB
Intel
""short
indows
hidio580.h

typedef unsigned char BYTE;

typedef unsigned short WORD;

typedef unsigned long DWORD;

typedef void (interrupt far * PINTPROC)(); /* HPCI */

#define HINTPROC interrupt far /* HPCI */

HPCI-D105xx
HPCI-D105xx
/
HPCDEVINFO

typedef struct {

WORD  nBusNumber; /* (0-255) */

WORD  nDevNumber; /* (0- 31) PCI */

WORD dwloPortAdrs; /* 1/0 */

WORD  dwlrgNo; /* IRQ (1-15) */

WORD  dwNumber ; /* (1-32) */

WORD dwBoardID; /* () */

} HPCDEVINFO, *PHPCDEVINFO



"HPCDEV INFO"* HPCI-D105xx
hdio580_GetDeviceCount()
hdio580_GetDevicelnfo()

HPCI-DI105xx
HPCI-DI105xx

hdio580_OpenDevicelD() ID

hdio580_OpenDevice() ID

hdio580_outpWriteB() hdio580_outpWriteW()

hdio580_outpReadB() hdi0580_outpReadW()

hdio580_CloseDevice()



GetLastErr()

DWORD  dErrorCode;

dErrorCode = hdio580 GetlLastErr(0);

/*

*/

NO_ERROR
NOT_FOUND
[>mem/d /p ]
$D10580%
( )
( )
ALREADY_OPENED
INSUFFICIENT_MEMORY
INVALID_HANDLE
NOT_READY
"1/0
“IRQ “
ILLEGAL_DEVICE
/ /

ILLEGAL_ACCESS




hdio580_GetDeviceCount()
hdio580_GetDevCntVerNo()

1/F

short hdio580_GetDeviceCount( WORD  dummy );
short hdio580_ GetDevCntVerNo( DWORD* verno );

WORD  dummy
DWORD* verno
31 24 23 16 15

I/F

NO_ERROR () ( )
NOT_FOUND ( )

/* Version No. : Device Driver & Driver I/F library */

union {

long 1; /* Read Data Area */

char c[4]; /* drv rel[0],ver[1], lib rel[2],ver[3] */
} dd_vers;

short count;

count = hdio580_GetDeviceCount(0);
count = hdio580_GetDevCntVerNo(&dd_vers.1I);

hdio580_GetDevicelnfo()

HPCDEVINFO



short hdio580_GetDevicelnfo( short* pcnDevNumber, PHPCDEVINFO pHpcDevinfo );

short* pcnDevNumber

PHPCDEVINFO  pHpcDevinfo
HPCDEVINFO

short ret; /* */
short count = 3; /* */
HPCDEVINFO HpcDevinfo[3]; /* DI05xx
ret = hdio580_GetDevicelnfo(
&count, /* count */
&HpcDevinfo[0] );  /* */
hdio580_OpenDevicelD() (

DWORD hdio580_OpenDevicelD( PHPCDEVINFO pHpcDevinfo );

PHPCDEVINFO  pHpcDevinfo

INVALID_HANDLE_VALUE

[ hDevID &= OxFFFFO000; ]



HPCDEVINFO HpcDevinfo[3]
hdi0580_GetDevicelnfo

DWORD hDevID[3]; /* D */

hDevID[0] = hdio580 OpenDevicelD( &HpcDevinfo[0] ); /* */
hDevID[1] = hdio580 OpenDevicelD( &HpcDevinfo[l] ); /* */
hDevID[2] = hdio580_OpenDevicelD( &HpcDevinfo[2] ); /* */

HpcDevInfo[0] .dwBoardID = INVALID_BOARD_ID;
HpcDevInfo[1] .dwBoardID = INVALID_BOARD_ID;

dwBoardID
nBusNumber , nDevNumber
dwloPortAdrs,dwlrgNo 1/0 IRQ

hdio580_OpenDevice() (

DWORD hdio580_OpenDevice( PHPCDEVINFO pHpcDevinfo );

PHPCDEVINFO  pHpcDevinfo

INVALID_HANDLE_VALUE -1



HPCDEVINFO HpcDevinfo[3]
hdi0580_GetDevicelnfo

DWORD hDevID[3]; /* D */

hDevID[0] = hdio580_OpenDevice( &HpcDevinfo[0] ); /* */
hDevID[1] = hdio580_OpenDevice( &HpcDevinfo[1] ); /* */
hDevID[2] = hdio580_OpenDevice( &HpcDevinfo[2] ); /* */

nBusNumber , nDevNumber
dwloPortAdrs,dwlrgNo 1/0 IRQ

hdio580_CloseDevice()

short hdio580 CloseDevice( DWORD hDevID );

DWORD  hDevID

short ret; /* */

ret = hdio580_CloseDevice( hDevID ); /* ID */



hdio580_ioswRead()

short hdio580_ ioswRead( DWORD hDevID, BYTE* swin);

DWORD  hDevID

BYTE* swin
7 4 3 0
HEEEEEEN X
24in/240ut
32in/16o0ut
24in/24out
short ret; //
BYTE swin; //

ret = hdio580_ioswRead( hDevID,swin ); //



hdio580_inpReadB()
hdio580_inpReadW()

port

short hdio580_inpReadB( DWORD hDevID, WORD port, BYTE* bytin);
short hdio580_inpReadW( DWORD hDevID, WORD port, WORD* wrdin);

DWORD  hDevID ID
WORD  port

40 - 33 32-25 24 - 17 16 - 9 8- 1

port= port= port= port= port=

() ."port=" port=
| port= |
| port= |
port=
port= I — (24in/240ut) ——>
(32in/160ut) >

BYTE* bytin

WORD* wrdin

short ret; //
BYTE bytin; // C )
WORD wrdin; // ( )

ret = hdio580_inpReadB( hDevID , 0, &bytin ); //
ret = hdio580_inpReadW( hDevID , 0, &wrdin ); //



hdio580_outpWriteB()
hdio580_outpWriteW()
hdio580_outpReadB()
hdio580_outpReadW()

port

port

short hdio580 outpWriteB( DWORD hDevID,WORD port,BYTE bytdt);
short hdio580 outpWriteW( DWORD hDevID,WORD port,WORD wrddt);

short hdio580 outpReadB ( DWORD hDevID,WORD port,BYTE* bytin);
short hdio580 outpReadW ( DWORD hDevID,WORD port,WORD* wrdin);

DWORD  hDevID

WORD  port

40 - 33

32 -25

24 - 17

16 -

9 8- 1

port=

port=

port=

port=

port=

(

)

."port=

port=

port=

port=

port=

port=

BYTE bytdt
WORD wrddt
BYTE* bytin
WORD* wrdin

short

A

ret;

BYTE bytin;

ret = hdio580_outpReadB( hDevID , 0, &bytin );

if(ret) {

bytin &= OxOf;

1/

1/

ret = hdio580_outpWriteB( hDevID ,0,bytin ); //

(32in/16out) +

(24in/240ut) ——— >

»
'

off



hdio580_intFilterWrite()
hdio580_intFilterRead()

short hdio580_intFilterWrite( DWORD hDevID, BYTE fil data );
short hdio580_intFilterRead ( DWORD hDevID, BYTE* fil data );

DWORD  hDevID
BYTE fil_data
BYTE* fil_data

7 6 5 4 3 2 1 0
0 0 0 0 INd | IN3 | IN2 | IN1
X X X X INA | IN3 | IN2 | IN1
0 0 0 0 0 IN3 | IN2 | INL
X X X X X IN3 | IN2 | IN1
us us

short ret; /* */

BYTE fil_data;

ret = hdio580_intFilterWrite(
hDevID, /* */
0x03 ); /* IN2,1IN1: */

ret = hdio580_intFilterRead(
hDevlID, /* */
&fil_data ); /* */




hdio580_intEdgeWrite()
hdio580_intEdgeRead()

short hdio580_intEdgeWrite( DWORD hDevID, BYTE edge data );
short hdio580_intEdgeRead ( DWORD hDevID, BYTE* edge data );

DWORD  hDevID
BYTE edge_data
BYTE* edge_data

7 6 5 4 3 2 1 0
0 0 0 0 INd | IN3 | IN2 | IN1
X X X X INA | IN3 | IN2 | IN1
0 0 0 0 0 IN3 | IN2 | INL
X X X X X IN3 | IN2 | IN1
short ret; /* */
BYTE edge_data;
ret = hdio580_intEdgeWrite(
hDevID, /* ID */
0x01 ); /% INL: - */
ret = hdio580_intEdgeRead(
hDevID, /* ID */

&edge_data ); /* */



hdio580_intldtSelWrite()
hdio580_intldtSelRead()

short hdio580_intldtSelWrite( DWORD hDevID, BYTE sel data );
short hdio580_intldtSelRead ( DWORD hDevID, BYTE* sel data );

DWORD  hDevID
BYTE sel_data
BYTE* sel_data

7 6 5 4 3 2 1 0
0 0 0 0 INd | IN3 | IN2 | IN1
X X X X INA | IN3 | IN2 | IN1
0 0 0 0 0 IN3 | IN2 | INL
X X X X X IN3 | IN2 | IN1
short ret; /* */
BYTE sel_data;
ret = hdio580_intldtSelWrite(
hDevID, /* */
0x01 ); /* INL: */
ret = hdio580_intldtSelRead(
hDevlID, /* */

&sel_data ); /* */



hdi0580_intldtStsRead()

short hdio580_intldtStsRead( DWORD hDevID, BYTE* idt data );

DWORD  hDevID
BYTE* idt _data

INA | IN3 | IN2 | IN1

X IN3 | IN2 | IN1

short ret; /* */
BYTE idt data;

ret = hdio580_intldtStsRead(
hDevlID, /* */
&idt_data ); /* */



hdio580_intEblWrite()
hdio580_intEbIRead()

short hdio580_intEbIWrite( DWORD hDevID, BYTE ebl data );
short hdio580_intEbIRead ( DWORD hDevID, BYTE* ebl data );

DWORD  hDevID
BYTE ebl_data
BYTE* ebl_data

7 6 5 4 2 1 0
0 0 0 0 EBL
X X X X EBL
short ret; /* */
BYTE ebl_data;
ret = hdio580_intEblWrite(
hDevlID, /* */
0x01 ); /* */
ret = hdio580_intEblWrite(
hDevID, /* */
0x00 ); /* */
ret = hdio580_intEblRead(
hDevID, /* */
&ebl_data ); /* */




hdio580_SetIntCall()

short hdio580_SetIntCall( DWORD hDevID, PINTPROC fnintCall );

DWORD hDevID
PINTPROC fniIntCall

short ret; /*
PINTPROC int_module;

ret = hdio580_SetIntCall(
hDevID, /*
int_module ); /*

@
hdio580_SetIntCall()
@
"hdi0580_intInpStsReset()"
®

hdio580_SetintCall()

*/

ID */
*/

“NULL™



1/F
1/F SN

- (V6.0)

L "smp580.c™  “#include"

#x% HPCI-DI0S80,0I05848 : Device Driver Sample [ Board = 2 ] ##x
----- [idiob80.1ikh Yer3.00 & hidicob80.drv Yer3.00 -----

Bus= 0 Dev=11 [/0=0:7000 IRG= 5 CTL=1 BID=#15 Open?=I
Bus= 0 Dev=12 [/0=0x7800 IRG=11  CTL= 2 BID= 10 Opent=_

¥+ HPCI-DI0BB0,0I05848 : Device Driver Sample [ Board = 2 ] ##x
----- lidiob80.1ib Yer3.00 & hidiohB0.drv Yer3d.00 -----

1.10=00001 I0=5/5 Bus= 0 Dev=11 1/0=0:7000 IRG=5 CTL=1 BID=#15 Open?=I
Bus= 0 Dev=12 [/0=0x7800 IRG=11  CTL=2 BID= 10 Open?=

1. M ---- 33 32 -—-—-25 4 --— 17 16 ---- 8§ g -—-1
input  5: oooooooo 4: ocooooooo 3@ oooooooo 2 ooocoooo 1 oooooooo
out/r 5: oooooooo 4% oooooooo 3% oooooooo P oooooooo 1 oooooooo
out /w5 oooooooo 4% ooooooon 3 oooooooo ¥ oooooooo 1@ oooooooo

Filter: oooo Edge: oooo DataSel: 4371
IntBit: oooo [H1= 0 INZ= 0 IN3= 0 IH4= 0

[ 0:End 1:0utput 2:IntMode 3:BitOut ] = _




v

sx¥ HPCI-DI0RBO,DI0648 & Device Driver Sample [ Board = 2 ]

----- lidiaohd0.1ik Her%.ﬂﬂ & hidiob80.drv YWer3.00 -----

1 T

1/F

1.10=00001 I0=5/5 Bus= 0 Dew=11 I/0=0x7000 IRG=5 CTL=1 BID=HI5 Open?=I
Bus= 0 Dev=12 1/0=0x7800 IRG=11 CTL=2 BID= 10 Open?=
/
/
/
1. i -~--—-33 32 -—-—25 M4 -—17 165 --—-1 g --——-1
input 5% oooooooo 4 ocooooooo 3% oooooooo Pf oooooooo 1 oooooooo
out/r 5: oooooooo 4@ oooooooo 3% oooooooo P oooooooo 1P oooooooo
out/w 5: oooooooo 4@ oooooooo 3% oooooooo P oooooooo 1 oooooooo
Filter: oooo Edge: oooo DataSel: 4321
IntBit: oooo IH1= 0 INZ= 0 IN3= 0 INd= 0

[ 0:End 1:0utput Z2:IntMode 3:Bitlut ] = _




[ O:End 1:0utput Z2:IntMode 3:BitQut ] =1

Part Hafl,2,..)

]
00 output [0x00] = 12_

out/r 5@ oooooooo 40 oooooooo 3@ ooocooooo 2 ooood 1: oooloolo
1:

out/w 5: oooooooo 4 opooooooo 3% oooooooo 2@ oooooooo

ooaloolo

Filter: oooo Edge: oooo DataSel: 4371
IntBit: pooo IN1= 0 INZ= 0 IN3= 0 IN4=

[ 0:End 1:0utput 2:IntMode 3:BitOut ] = 3

I

1 4 -—--33 32 --— 25 24--—17 1B --—8 B - |

input h: opoooooo 4: oooooooo 3: oooooooo 2 oooooooo 1@ oooooooo
out/r 5: ooooocooo 4: pooooooo 30 cooooloo 2 looollll 1: ollellal
out /w5 oooooooo 4 pooooooo 30 oooogloo 2@ looollll 1: allallal

Filter,Edge,DataSel

Filter:lo3?1 | Edze:|a3al
IntBit: oooo  INT=

[ D:End 1:0utput  2:IntMode

Filter [0x0f] E 7JEdze [0x00]
Counter Clear(Y7v) 7 = ¥




